USALUMINUM WINDOW WALLS

SERIES TN 601 TOP NOTCH SYSTEM
PUNCHED WINDOW

115 1/2" RO

1o
+791/2' RO
3/8" MIN +783/4" FD 3/8" MIN
JOINT 36" DLO 36" DLO JOINT
214" 214"
214"
z
S|k P
©|0 (5 ‘
2|8 OO,
.
>
5
-
o~
SUPPORTS
1" GLAZING
STANDARD
13
o
2| AuTooeT. (1A HOLLOW
177 Io!
o
(TR
3 214" x6"
5 FRAMING
-
0,
. -
3
—
o~
d )/ )/
i}
[a)
o
5
-
~N |
z GO0
sS\|E NI\
©|0
©
&|3
214" x 6"
(FRAM'NG INTERIOR x
S ———
N EXTERIOR
214" 214 LOLAZING
36"DLO 36" DLO
3/8" MIN +783/4" FD 3/8" MIN
JOINT +7912° RO JOINT

Revisions By:

115 1/2" RO

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

GLASS SIZING NOTE: TN 601 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
Ié%'?g;_:m‘g.rs FOR SIZING The Top Notch Systems offer a shallow face reveal that creates a flush exterior
) appearance. These systems are designed for labor saving stacking type installations that
requires glazing from the interior. Series TN601 and TT601 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for
structural silicone glazing are also available. The Top Notch Systems are designed for
fixed horizontal window wall or punched opening applications.
2 1/4" x 6" frame
Full range of accessory components
Available in an array of architectural coatings and anodized finishes
Interior Glazed
+791/2" RO
3/8" MIN +783/4" FD 3/8" MIN
JOINT 36" DLO 36" DLO JOINT
21/4" 21/4" 6"
2 1/4"
z z
S|k P S|k
» |0 ( ) » |0
a|" 5 9@ a|" N
& )
- ]
5 3
- -
~N o~
— 1" GLAZING
SUPPORTS
1" GLAZING
STANDARD
13
9 9
a ALT. DET. (1A a
N 1 3 N
\ \ ———21/4"x6"
FRAMING
) o| o
[ x [
3 214" x6" 83
s, FRAMING |
-~ — —
®
N e N
R 3
— —
N (3]
] ]
a a
(2} (2}
s 3
- -
o~ ~-y o~
EXTERIOR INTERIOR
. 000 . N\
zl: 0 (1 E N
©|O ©|O
& |7 & |7
21/4"x 6"
(FRAM'NG INTERIOR Y
) i \
bJ q ‘ : ; STANDARD ABBREVIATIONS
\ EXTERIOR RO ROUGH OPENING
“ FD FRAME DIMENSION
1" GLAZING
21/4" 21/4" 21/4" DLO DAYLIGHT OPENING
T i DO DOOR OPENING
36"DLO 36"DLO DD DOOR DIMENSION
SMC SURFACE MOUNTED CLOSER
3/8" MIN +783/4" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT £791/2" RO JOINT

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

TN601.01



Revisions By:
®
GLASS SIZING NOTE: TN 601 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZING The Top Notch Systems offer a shallow face reveal that creates a flush exterior
GUIDELINES. 3 R . . .
appearance. These systems are designed for labor saving stacking type installations that
HSAL“MINUM WI N D OW WAL LS requires glazing from the interior. Series TN601 and TT601 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for ]
structural silicone glazing are also available. The Top Notch Systems are designed for (D)
S E R I ES T N 60 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. o, &
o8¢
2 1/4" x 6" frame E Egb
Full range of accessory components = z 8 3
Available in an array of architectural coatings and anodized finishes %S b
Interior Glazed = 6 § H
w11 | B
1'=10 8z
TR
— XA
<3g
Ozx
+2331/4" RO Oss
W s::
3/8" MIN +2321/2" FD 3/8" MIN (Z) >y
: B
38
JOINT 36"DLO 36" DLO 36"DLO 36"DLO 36"DLO 36"DLO JOINT E() & ?
3
2 1/4" VARIES 2 1/4" VARIES 2 1/4" VARIES 2 1/4" 6" E‘)
f—
z z
sS|E @ S|k
Ak DEE 5|2 \
L L
- b
3 3
- -
o~ o~
1" GLAZING
SUPPORTS
1" GLAZING
STANDARD
13
(@) (@)
2| ALT.DET. (1A HOLLOW a
. 2 PIECES 2 PIECES 2 PIECES A —
~ 1 2 3 ~ Q
\ \ Oy \ \Ogiin \ 2y i
FRAMING E — O
=9 z
o| o ol o o UV = =
Tl T ZoiH 3
o & | & Stog
S| ® S| ® - X
w| ol < o 0 [a)
| - - — — = —
- — — — O
21/4"x 6" ;0 CO0S s
FRAMING @ @ @ 5 Z Z
o o o n
5] oKD >
i | 2 = = un
o o
| | | [AN]
3 3 )
— —
(3] (3]
(@) (@)
- -
©o ©o
(2} (2}
Y Y
— —
o~ ~-y o~
EXTERIOR INTERIOR
E 11 z \ \
E © P
2|3 2(9
21/4" x 67 INTERIOR
FRAMING Y
: i N
o .3 'l ! ) il ] STANDARD ABBREVIATIONS T
RO ROUGH OPENING Date: 11714714
1" GLAZING EXTERIOR FD FRAME DIMENSION Scale: AS NOTED
21/4" 21/2" 21/4" 21/2" 21/4" 21/2" 21/4" DLO DAYLIGHT OPENING File Name: TN601-TT601.dw
1 B DO DOOR OPENING . awg
36"DLO 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT +2331/4" RO JOINT TN601 02




Revisions By:

®
GLASS SIZING NOTE: TN 601 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
Ié%/:‘gEchAERSTS FOR SIZING The Top Notch Systems offer a shallow face reveal that creates a flush exterior

appearance. These systems are designed for labor saving stacking type installations that

“SALUMI“I'M WI N D OW WA L L S requires glazing from the interior. Series TN601 and TT601 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be

drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for
structural silicone glazing are also available. The Top Notch Systems are designed for

w
2
]
S E R I E S T N 60 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. 8 3
o8¢
2 1/4" x 6" frame E gé’ §
Full range of accessory components z 8 %
Available in an array of architectural coatings and anodized finishes = [ ]
Interior Glazed = F—“i H
T=1-0" | &,_-')if
+2331/4" RO 085
.. = %l
3/8" MIN +2321/2" FD 3/8" MIN : O g2
o
Oty
JOINT 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO JOINT K 53
(SR
Sa
21/4" VARIES 21/4" VARIES 21/4" VARIES 21/4" 6" ’ E u ;l
4 588
z Zz 3z
1E Py 1k :
58 0C 8 \
. L
5\ N
|
% &
— —
N N
1" GLAZING
2 / / / / / / o
= g}
a [a)
© SUPPORTS / / ©
ol 4| 7 1" GLAZING ol ol ©
g 2 STANDARD S Clr
B . "x6" % -
R FRAMING 3|5
ol I 6 6A 6 a2
~ © - ©
© ©
. e e e w :
w B g 3 —~——21/4"x6"
= - =
.2 g ~ 5 é 9 ~ FRAMING
© [a) - [a) —
g [ o = ® + | = o
as S0 - = =3 o
z S I S > E A4
7] | 0 - L O
| > =9z
| I Z) w <
= = — I
| ZoE 2
EXTERIOR i INTERIOR 3 T— <
i - X
N ANAN AN N 3 i o QO a)
N 3 - ! O = —
— ] <092
w W N / . > 0 >
= : - s : § »n £ Z W
= < 3 - < R = : — =
o S Qe = 8 o & n
EX: ~ 1A HOLLOW St o S oKD >
- % / 2 PIECES / 2 PIECES / 2 PIECES -s 1" GLAZING a - v
» 1 2 @ I LLI
(o) (o)
3 \ \ O \ \ 5 g &
n SUPPORTS 8
el al @ 1" GLAZING el o °
B o STANDARD N w
ol . 21/4"x 6" ol .
S| 2 FRAMING 3| 3
=1 6 sl 2
8| © N8
X X —~——21/4"x6"
— —
8 = 9 « FRAMING
a [a)
8l % &
—
N ~y
u\
Z | 11 Z|e k
S|z S|z N
»| 0O © |9
=™ " " s 7
& 21/4"x 6 INTERIOR @
FRAMING
. i
o STANDARD ABBREVIATIONS S ——
RO ROUGH OPENING Date: 11/14/14
1" GLAZING EXTERIOR FD  FRAME DIMENSION Scale: AS NOTED
21/4" 21/2" 21/4" 21/2" 21/4" 21/2" 21/4" DLO DAYLIGHT OPENING File N N
1 [ DO DOOR OPENING le Name: TN601-TT601.dwg
36"DLO 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT +2331/4" RO JOINT TN601 03




|—

—

F.O. WALL

ROD &
SEALANT

INTERIOR

(2) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

|— 10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

L

— RW651 ,

& & |

|

I

| ‘

I

‘

i ‘

‘

‘

‘

|

PS100 : o
‘
1" THK. GLAZING
@J
&
=
=
EXTERIOR
21/4" DLO
3/8" FD
RO

JAMB SECTION @

——

F.O. WALL

ROD &
SEALANT

(2) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

—

_ | — 10X2PHPSMS
(#10 X 2") PH SMS

@ HORIZONTAL
SHEAR BLOCK

=1
- RW650 ,
|
gﬁ >
I
|
|
|
|
|
|
I
|
I
l .
| o
‘E INTERIOR
1
) NP606
'y 1" THK. GLAZING
PW618
NP425
o~
o~
EXTERIOR
214" DLO
3/8" FD
RO

OPTIONAL WALL _
JAMB SECTION ()

ALTERNATE DETAIL

INTERIOR

RW650

(4) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

1" THK. GLAZING

1" THK. GLAZING

RW661 RW669

— 10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

INTERIOR

1" THK. GLAZING

1" THK. GLAZING

NP425
&
EXTERIOR EXTERIOR
DLO 214" DLO DLO VARIES DLO
FD FD
RO RO

INT. VERT. SECTION @

RW660

INTERIOR

SP455
GASKET

37/8"

1" THK. GLAZING

oo [ ]
N

EXTERIOR SEALANT
3/8"
DLO 21/4" DLO
4
FD
RO

INT. VERT. SECTION @

INT. VERT. SECTION

WINDOW WALL SERIES TN601 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

10" = 1'-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

TN601.04



3/8"

RW652

RW654

1" THK. GLAZING
NP606

INTERIOR

6"

N —

HEAD SECTION @

NP425
NP606

o]
z
N
<
-
o
N
I
=
e

(2) 10X2PHPSMS
(#10 X 2") PHILLIPS
PAN HEAD SHEET
METAL SCREWS FOR
SHEAR BLOCK
ASSEMBLY

RW663

(@)

SB663

RW697 ﬁg?

RW654

1" THK. GLAZING

L—— (1) #10 X 1/2" PH SMS
@ EA. BOTTOM CLIP

INTERIOR

6"

INT. HOR.

SECTION

NP425
1" THK. GLAZING

—

INTERIOR

RW664

L WEEP
= BAFFLE
o~

o

x|

w
WEEP HOLE -
o
|
o
EXTERIOR
4
o
)
a
<

glels
o~
o
)

a
EXTERIOR
EXTERIOR
o
|
o
[a]

o) w

24
<
R RW667
N

WEEP —
BAFFLE
WEEP HOLE
Y
B

SILL SECTION

ROD & SEALANT

o
P
[a]
K
JHE
o~
o
P
[a]

ROD & SEALANT

—T.0.FLR. SLAB

EXTERIOR

RW634

.
< Z ANCHOR BOLT
PER CALCS
PRECAST——=+ 4 g A
CONCRETE
WALL T 1
< HC300
g4 A
A
HC311
o
& Ll
% WEEP — RW652
E BAFFLE
o~
Q
= INTERIOR Q
N [a]
- 3 ° v RW654
g g 3 — (2) 10X2PHPSMS P
a ¥ ol (#10 X 2") PHILLIPS PAN HEAD ©
z F z SHEET METAL SCREWS FOR WEEP HOLE z
- SHEAR BLOCK ASSEMBLY o N ©
RW633 2 3 8
o
0 2 Il
EXTERIOR F INTERIOR
SB633 RW697 B
~ Gn
HEAD SECTION (8) + ﬂL
PRECAST ANCHOR CONDITION
0 S\ RW654 ) o b
g
o N © (1) #10 X 1/2" PH SMS EXTERIOR Q INTERIOR
g 3 3 @ EA. BOTTOM CLIP z
0]
CZL % % o 5 é §
iy a gll||| ¥ S
- F
= . RW664
B
&
: Ao i
A~ 8 SB334
INT. HOR. SECTION E re s
. : ~ 3 RW667
FOR STRUCTURAL SILICONE GLAZING ~ ';'
WEEP v '{///g '
BAFFLE
o Lz
WEEP HOLE // ///
5 ]
g HC312
<7
ANCHOR BOLT
PRECAST ——= PER CALCS
CONCRETE é
WALL A

©®

SILL SECTION

PRECAST ANCHOR CONDITION

WINDOW WALL SERIES TN601 TOP NOTCH SYSTEM

HC300

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

1-0" = 1'-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

TN601.05



A <
A p A
<
g = 1/4" @ ZINC PLATED HILTI
= < KWIK HUS-EZ CONCRETE
Y SCREW ANCHOR (ESR-3027)
g <
©
(3] P p.
)))))@/ & <<<€7 ROD & SEALANT
)4
mwen (L ] T
HEAD BLOCK
FOR GLASS
RW622
?g imi N AT
@ RW652
o N\
Xl WEEP —
w
BAFFLE NP825
10X112HWSMS
N 0 (#10 X 1-1/2") HEX WASHER HEAD SHEET
° —1 RW654 METAL SCREWS FOR FRAME ASSEMBLY
©
P4 (=]
o | WEEP HOLEJ R g
| 3 z
a o
¥
I
EXTERIOR = INTERIOR
-
.
HEAD SECTION @
WITH RECEIVER
o
0}
z
0 g
a Q)
< © f . 10X112HWSMS
z =1 (#10 X 1-1/2") HEX WASHER HEAD SHEET
:, g ‘ ‘ METAL SCREWS FOR FRAME ASSEMBLY
o 0 Rwess %
w
g
. SEALANT
o
—
E
o~
SEALANT-
LD
FF700
& WEEPJ 1
@ HOLES = <7
A4 L
SHIM & ) < 1/4" @ ZINC PLATED HILTI
BACKER Sz = A KWIK HUS-EZ CONCRETE
ROD w2 L SCREW ANCHOR (ESR-3027)

SILL SECTION

@

AT BALCONIES

3/8"

A

<
<:q
e !

1/4" @ ZINC PLATED HILTI
KWIK HUS-EZ CONCRETE
SCREW ANCHOR (ESR-3027)

RO

FD

21/4"

DLO

1" THK. GLAZING

HEAD SECTION @

<
ROD & SEALANT
\W(((ﬂ
1] HC650
Z7
% RW652
HEAD BLOCK
FOR GLASS
|
y\ 10X112HWSMS
(#10 X 1-1/2") HEX WASHER HEAD SHEET
RW654 METAL SCREWS FOR FRAME ASSEMBLY

WINDOW WALL SERIES TN601 TOP NOTCH SYSTEM

Revisions By:

WSALUMINUM

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

1-0"=1-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

TN601.06



= F.0. WALL

SEALANT
! RW655

&

FF600

g

<@} NP606

H 1" THK. GLAZING

7

s ——— KA
(N

L% / NP425

21/4"

DLO

JAMB SECTION @

RW761

RW769

NP606 |

y

RW600

y

L

!

g
o

} NP606

1" THK. GLAZING H K 1" THK. GLAZING
T 7
NP425 NP425
DLO 21/4" DLO

«Q

1" THK. GLAZING

NP425
NP606

—

()

SB334

RW654

)
\

—_—
©
©
o
1]
—
»
i \i
N
—
-
~
~
x
N
© ©
= o
> ) g
@ ~
N,
%
=
53
, -
© ~
WEEP
HOLE
s

INT. VERT. SECTION @

ey
] g A
<
A 5
4 A
A A
EDGE DISTANCE A A /]
VARIES PER CALCS. <
< 2
< ®
<
A E E
A 4 2
EDGE DISTANCE ~ 4 8
A I8
VARIES PER CALCS. < A .
A EY
A
<
<
A
g A
<7 a %
A RV B
RW620 M T/[IJC
RW652 -
NP825
RW654 INTERSTORY DETAIL

NP425
NP606

1" THK. GLAZING

@ HEAD & SILL

SHOWING SLAB COVER

WINDOW WALL SERIES TN601 TOP NOTCH SYSTEM

Revisions By:

'-lg
B
U:

%)
—
]
>
[a)]
O
o
o
-
<
[
=)
=
O
]
=
T
]
o
<
O
]
L
O]
z
i
o
=)
<
—
&
O

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

1-0"=1-0"

TN601.07



Revisions By:
(]
GLASS SIZING NOTE: TT 601 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZIN
GCL)JIDECLINES SFORS G The Top Notch Systems offer a shallow face reveal that creates a flush exterior
| appearance. These systems are designed for labor saving stacking type installations that
"SALUMINUM WI N D OW WA L LS requires glazing from the interior. Series TN601 and TT601 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for ]
structural silicone glazing are also available. The Top Notch Systems are designed for (D)
S E R I E S TT 60 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. a._§
og ¢
2 1/4" x 6" frame E &3 %
P N H E D WI N D W Full range of accessory components = z 8 3
Available in an array of architectural coatings and anodized finishes %5 N
Interior Glazed = Dis
w—qr | Ehvold
1'=10 8z
5 R
o
=5
<28
+791/2" RO +791/2" RO O 53
W
3/8" MIN +783/4" FD 3/8" MIN 3/8" MIN +783/4" FD 3/8" MIN ’ E z i
x33
JOINT 36" DLO 36" DLO JOINT JOINT 36" DLO 36" DLO JOINT 29z
3
21/4" 21/4" 21/4" 21/4" 6" E‘)
21/4" 21/4" 3
z z z
5|e (- 5|e P HE
HE DO e 000 HE N
L L L
- e ]
% s 5
— — —
N (3] N
1" GLAZING
SUPPORTS SUPPORTS
1" GLAZING 1" GLAZING
STANDARD STANDARD
13 13
9 9 9
a ALT. DET. (1A HOLLOW a ALT. DET. (1A a
& & & —
i . O i 4\ \Ogin i S
‘ —~——21/4"x6" o
FRAMING E 'l: 8
> = qQ z
) = =
ol o ol o ol o -}
x| o x| o x| @ Z (>/—) % g
SR 21/4" X 6" ) 21/4" X 6" S T2 é
ol FRAMING ol S FRAMING ol 2 0 a)
il pan SoA 2:' 6 6
I . = o >
S| »n Z W
6 6A = :> o — (p;)
3 ORI
2 — =
- 3 =
N e N | . L
R 3 R )
— — —
N (3] N
: 4 4 : 4 4 :
- - g}
[a) [a) [a}
o o o
5 3 5
- - -
o~ ~ o~ ~y o~
EXTERIOR INTERIOR
: 200 : OO TR\
S|E =\ S|z v - HE k
8|5 8|5 8|5
21/4"x 6" 21/4"x 6"
FFRAM'NG INTERIOR & (FRAM'NG INTERIOR N
: ‘ i j : ‘ f TR
LQJ ; [] ) LQJ ; [;1 : STANDARD ABBREVIATIONS T
AN EXTERIOR N EXTERIOR RO ROUGH OPENING Date: 11714714
Loqe Loqe FD FRAME DIMENSION Scale: AS NOTED
21/4" 21/4" 1" GLAZING 21/4" 21/4" 21/4" 1" GLAZING 21/4" DLO DAYLIGHT OPENING File Name: TN601-TT601 .d
1 i 1 i DO DOOR OPENING : Sevl.awg
36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +783/4" FD 3/8" MIN 3/8" MIN +783/4" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT +791/2" RO JOINT JOINT +791/2" RO JOINT TT60 1 . 01




USALUMINUM WINDOW WALLS

SERIES TT 601 TOP NOTCH SYSTEM
FIXED HORIZONTAL WINDOW WALL

REFERENCE U.S. ALUMINUM

GLASS SIZING NOTE:

CATALOGS AND WEBSITE'S
LOAD CHARTS FOR SIZING
GUIDELINES.

Revisions By:

TT 601 SERIES SPECIFICATIONS

2 1/4" x 6" frame
Full range of accessory components

Interior Glazed

The Top Notch Systems offer a shallow face reveal that creates a flush exterior
appearance. These systems are designed for labor saving stacking type installations that
requires glazing from the interior. Series TN601 and TT601 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water
deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be
drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for
structural silicone glazing are also available. The Top Notch Systems are designed for
fixed horizontal window wall or punched opening applications.

Available in an array of architectural coatings and anodized finishes

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

1"=1'-0"
+2331/4" RO
3/8" MIN +2321/2" FD 3/8" MIN
JOINT 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO JOINT
21/4" VARIES 21/4" VARIES 21/4" VARIES 21/4" 6"
zZ b4
S|E - S\E
»|0o @@ ©|9 N
"L o °|” \
‘ ‘
- b
L %
— —
o~ o~
— 1" GLAZING
SUPPORTS
1" GLAZING
STANDARD
13
o o
2| ALT.DET. (1A HOLLOW a
5 2 PIECES 2 PIECES 2 PIECES A
~ 1 2 3 ~
\ \ \Ogm \ \Ogin \ 2y
FRAMING
(o] [a) (o] [a)
o w (14 [T
ol % ol &
— ™ — ()
ol 3 o| 3
— - - -
21/4" x 6"
FRAMING
6 6A 6
Ny N
— -
N ~N
: )/ / )/ )/ 4 )/ 3
- -
a =)
(9] o
L %
— —
~ ~- o~
EXTERIOR INTERIOR
z 11 Zz
E © E
©| O ©| O
&7 @ |7
21/4" x 6" INTERIOR
FRAMING \\‘
5 i \
-@J ‘ 1 [] i1 [1 ‘ STANDARD ABBREVIATIONS
{ }
\ RO ROUGH OPENING
L 1 cLaziNG EXTERIOR FD FRAME DIMENSION
2 1/4" 21/2" 2 1/4" 21/2" 2 1/4" 21/2" 21/4" | DLO DAYLIGHT OPENING
Ei DO DOOR OPENING
36" DLO 36" DLO 36" DLO 36" DLO 36" DLO 36" DLO DD DOOR DIMENSION
SMC SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT +2331/4" RO JOINT

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

1T601.02



Revisions By:

®
GLASS SIZING NOTE: TT 601 SERIES SPECIFICATIONS
REFERENCE U.S. ALUMINUM
CATALOGS AND WEBSITE'S
Ié%'?gE?_:-"\ﬁEZTS FOR SIZING The Top Notch Systems offer a shallow face reveal that creates a flush exterior

appearance. These systems are designed for labor saving stacking type installations that

“s AL“MIN“M WI N D OW WAL LS requires glazing from the interior. Series TN601 and TT601 utilize wedge-type molded
corner exterior sponge gaskets for superior air and water performances. Internal water

deflectors at intermediate horizontal to vertical intersections allow infiltrated water to be

drained into a continuous sill gutter and weeped to the exterior. Vertical mullions for

w
structural silicone glazing are also available. The Top Notch Systems are designed for 6
S E R I E S TT 60 1 TO P N OTC H SYST E M fixed horizontal window wall or punched opening applications. 8 €
058
2 1/4" x 6" frame E 24
Full range of accessory components o8¢
Available in an array of architectural coatings and anodized finishes = é P g
Interior Glazed = 20 i
1"=1-0" mm P23
=
+2331/4" RO TR
— XA
3/8" MIN +2321/2" FD 3/8" MIN : < % g
Oz
JOINT 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO JOINT m Ofs
25
(SR
21/4" VARIES 21/4" VARIES 21/4" VARIES 21/4" 6" ’ E Z ‘N;
P &g g
<z
Z z S =
s|E (o~ s|E o
52 OC :|3 \ i
L .
- b
5 5
— —
(3] N
1" GLAZING
2 / / / / / / o
] ]
a a
© SUPPORTS / ©
ol o 7 1" GLAZING ol 4| 7
B STANDARD o U X e
=z "X 6" =z
LRI FRAMING 3l 3
52 6 6A 6 2 o
~ © - ©
©o ©o
- | | | w = . "
w % < S ———121/4"x6
-
. <§( 9 ~ o é 9 ~ FRAMING
Sk e g e —
= z - + 3 =
9z LI 73 a0 3
: N ~ z S SEQ
1 =0z
= = == } ) <>/_7 = =
: zZoxr =
EXTERIOR i INTERIOR = <
| ST
N AN AN N i -~ X
K K I o 0 [a)
g i 2= 3
. N S y . <08 s
P : 13 2 : 5| v»s» £
2 Ky .2 K} g« Z W
S by ©x — 5 :> n +— (F;)
&% w 1A HOLLOW oo ~ 2 ogg
-~ % 2 PIECES 2 PIECES 2 PIECES -s 1" GLAZING é’ — = [%2]
% 1 2 3 I
o \ \ O \ 194 \ w o i
o SUPPORTS o
el al @ 1" GLAZING gl ol ©
~ w STANDARD N L
ol . 21/4"x 6" ol .
9| 3 4 3
< > FRAMING 6 3 >
¥ 8 3| 8
Ky = ~——21/4"x6"
— —
9 ~ 9 « FRAMING
a a
8l ¥ &
—
(3] |
N
z 11 E= \
S|k O S|E k
|0 ©| O
ol” 2 1/4"x 6" INTERIOR a7
(FRAMING

i

STANDARD ABBREVIATIONS

Drawn By:  RPD
EXTERIOR RO ROUGH OPENING Date: 11/14/14
" FD FRAME DIMENSION .
le:
21/4" 21/2" 21/4" 21/2" 1" GLAZING 21/4" 21/2" 21/4" DLO DAYLIGHT OPENING Scale AS NOTED
1 I DO DOOR OPENING File Name: TN401-TT601.dwg
36"DLO 36"DLO 36"DLO 36"DLO 36"DLO 36"DLO DD DOOR DIMENSION Sheet
SMC SURFACE MOUNTED CLOSER
3/8" MIN +2321/2" FD 3/8" MIN OHCC OVERHEAD CONCEALED CLOSER
JOINT JOINT
£233 14 RO TT601.03




3/8"

+———F.0. WALL

INTERIOR

(2) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

ROD &
SEALANT

PS100

T ———
v
| |
9

1" THK. GLAZING

| — 10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

21/4"

EXTERIOR

DLO

3/8"

RO

JAMB SECTION @

™ F.O.WALL

ROD &
SEALANT

(2) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

RT650

6"

E INTERIOR

!

e ——— &
Y

1" THK. GLAZING

| — 10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

21/4"

EXTERIOR

DLO

FD

RO

OPTIONAL WALL
JAMB SECTION

ALTERNATE DETAIL

INTERIOR
o RT650

(2) 10X112HWSMS

(#10 X 1 -1/2") HEX WASHER
HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

1" THK. GLAZING

1" THK. GLAZING

6"

RT661

RT669

| — 10X2PHPSMS
(#10 X 2") PH SMS
@ HORIZONTAL
SHEAR BLOCK

INTERIOR

EXTERIOR
DLO 21/4" DLO
FD
RO

INT. VERT. SECTION @

RW660

1" THK. GLAZING

EXTERIOR
DLO VARIES DLO
FD
RO

INTERIOR

SP455
GASKET

1" THK. GLAZING

L JE]

1" THK. GLAZING

) 1
TETE
b

EXTERIOR SEALANT
3/8"
DLO 21/4" DLO
4
FD
RO

INT. VERT. SECTION @

INT. VERT. SECTION

WINDOW WALL SERIES TT601 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS

10" = 1'-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

1T601.04



3/8"

RO

RO

RO

FD

FD

FD

21/4"

DLO

DLO

21/4"

DLO

DLO

21/4"

WEEP -
BAFFLE

EXTERIOR

RT652

RW654

L
X

NP606

INTERIOR

1" THK. GLAZING

6"

N I

EXTERIOR

RARK
Vol

1" THK. GLAZING

RT663

10X2PHPSMS
(#10 X 2") PH SMS

L
QRIRESR

RS

R
J
o

RW654

INTERIOR

1" THK. GLAZING

6"

(1) #10 X 1/2" PH SMS
@ EA. BOTTOM CLIP

INT. HOR. SECTION

EXTERIOR

WEEP
BAFFLE

NP425

1" THK. GLAZING
NP606

IILTERIOR

SB334

RW667

3/8"

WEEP HOLE4

SILL SECTION

@

)
< 4
SEALANT g 5 ANCHOR BOLT
PER CALCS
PRECAST ——*+
CONCRETE A
WALL g4 - e
10X112HWSMS —---eoo- H1H~
(#10 X 1-1/2") HEX WASHER
HEAD SHEET METAL SCREWS /)
FOR FRAME ASSEMBLY HC300
<
4 < A HC311
o
& L |
Plima: iimiN
L WEEP — RT652
S BAFFLE ‘ i
o~
Q
EXTERIOR 4 INTERIOR gl 4
N
< v 0 g,\ , Rwes4
o ° 10X2PHPSMS 3 iz tzt
2 z (#10 X 2") PH SMS ) X
e WEEP HOLE 1 2 SEE DETAIL 5 FOR
o o DY © SCREW DESCRIPTION
P N - o
e 8 © 4
z N z
EXTERIOR = INTERIOR
o
RW634 -
ol o| X "
gl el3 HEAD SECTION \%) | © }
PRECAST ANCHOR CONDITION
f f
2
o S (1) #10 X 1/2" PH SMS EXTERIOR Q IILTERIOR ‘
2 5 @ EA. BOTTOM CLIP g | |
(U] < ©
X o g 3 = SEE DETAIL 5 FOR
= 2 9 < < SCREW DESCRIPTION
= [a] z z
- F
e I RT664 I
&
a
o w
D )
INT. HOR. SECTION 22 ¥ RWe67
FOR STRUCTURAL SILICONE GLAZING ~
WEEP
BAFFLE
o
B
10X112HWSMS
(#10 X 1-1/2") HEX WASHER )
HEAD SHEET METAL SCREWS WEEP HOLE
FOR FRAME ASSEMBLY o ANCHOR BOLT
PRECAST ———— PER CALCS
CONCRETE
WALL

ROD & SEALANT

—T.0.FLR. SLAB

SILL SECTION

PRECAST ANCHOR CONDITION

WINDOW WALL SERIES TT601 TOP NOTCH SYSTEM

<7 HC300

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

WITH THERMALLY BROKEN PARTS

1-0"=1-0"

)
sEa

—
sEq?
S wZ
Z > ;

<= u»n W
St <
- X
2L -0
. <0% s
§ »v €z W
1352”5
] oKD >
2 = X2 »n

o

[AN]

(%]

Drawn By:  RPD
Date: 11/14/14
Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

1T601.05



A q B /
<7
A =
L A
<
g - Z 1/4" @ ZINC PLATED HILTI
N -4 <
ME g KWIK HUS-EZ CONCRETE
~ Y SCREW ANCHOR (ESR-3027)
&; £
E £
A
TER (S
yd
RT630 L[ 1]
HEAD BLOCK
FOR GLASS
RW622
@ PramaX AT
-
@ W@%ﬁ RT652 g
e}
e
w
SH NP825
10X112HWSMS
0 L] (#10 X 1-1/2") HEX WASHER
S o o RW654 HEAD SHEET METAL SCREWS
g z S FOR FRAME ASSEMBLY
o o ';(l o
) z — z
a [}
N4
I
[
“
&
WITH RECEIVER
6"
<}
=z
N
9 5
e © ‘ ‘ 10X112HWSMS
] x e (#10 X 1-1/2") HEX WASHER
5 = e HEAD SHEET METAL SCREWS
z - z FOR FRAME ASSEMBLY
~
2 O RT664 %
2| & &
['4
SB334
- e SEALANT
=
B RW667
o~
SEALANT-
FT700
% WEEPJ < 4
@ HOLES > J
A
SHIM & N L. 1/4" @ ZINC PLATED HILTI
BACKER S|z 7 A KWIK HUS-EZ CONCRETE
ROD A 2 L SCREW ANCHOR (ESR-3027)
fd
o A

AT BALCONIES

RO

FD

21/4"

7 i m ﬂ
A >

9 Zﬁ 1/4" @ ZINC PLATED HILTI
= A KWIK HUS-EZ CONCRETE

R %/> SCREW ANCHOR (ESR-3027)

<7 SE T~
~ |2 £ <
4 ]
% 2 ROD & SEALANT
p- A
il \w((((‘
HC650

i

B e Y

HEAD BLOCK
FOR GLASS

10X112HWSMS
(#10 X 1-1/2") HEX WASHER

DLO

RW654 HEAD SHEET METAL SCREWS
FOR FRAME ASSEMBLY

NP606 %
V=1

NP425

1" THK. GLAZING

HEAD SECTION @

WINDOW WALL SERIES TT601 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS 1-0"=1-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

1T601.06



————F.O.WALL

ROD &
SEALANT

RT655

1" THK. GLAZING

21/4"

DLO

JAMB SECTION @

RT761 RT769

RW600

(e

NP606

1" THK. GLAZING

NP425

DLO

21/4"

DLO

INT. VERT. SECTION

89/16"

—

o
o
o
-
&
o)
—
~
~
x
N
o
o
5 S
~
?ﬁ
=
3{7
. -
~

WEEP HOLE

2
2
5]
9 ¥ 8
OM RT654 @
SB334 .
RT605 m P
”&Jf< .
<7 7 e - A
D A
) & L
4
<
<
A
A
EDGE DISTANCE 4 A
VARIES PER CALCS. <7 A
<7
2
44 a
A 9 <
A g °
EDGE DISTANCE 4 A g
A o
VARIES PER CALCS. < A )
< 4 ®
<
q <
4 A
Ag | 4 A
o /) < A
] /)
RT620 5
LLE%{% RW622
NP825
0 RW654 INTERSTORY DETAIL
<l 2 |Is @ HEAD & SILL
§ g § SHOWING SLAB COVER
2
3
&

WINDOW WALL SERIES TT601 TOP NOTCH SYSTEM

Revisions By:

C.R.LAURENCE CO. ARCHITECTURAL PRODUCTS

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897

PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

U.S. ALUMINUM

TOP NOTCH SYSTEM
SERIES TN601 / SERIES TT601
SYSTEM DRAWINGS

Discription:

Drawn By:  RPD

WITH THERMALLY BROKEN PARTS 1-0"=1-0"

Date: 11/14/14

Scale: AS NOTED

File Name: TN401-TT601.dwg
Sheet

1T601.07



